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m@pary)—hk m3 33.3 9. 42.5
H;mary)—+Fk m3 0. 0.1




SHEE T 13 s HE e
x {81 ¥ {81
B:| =i Tz E " & B:| = E K 5 &
NO.0-7.7 ~ NO.5 +4.0 11.7 Asghiz NO.0 -8.5 ~ NO.1 +16.1 44. 6 Asghiz
NO.0 +16.3 ~  NO.1 +1.7 3.7 Con&fiZt NO.0 +16.2 ~ NO.1 +7.6 12.9 AsghizE
NO.1+.7 ~ NO.1+16.7 14.4 | As&hs:
As#zE 126.1 AstzE 57.5
Con&ht 3.7 Con&fi%k 0.0
&t
As#z 183.6
Con&fiZt 3.7




BEVHEREFTES

FHEE AR A (BaE) ZfA

TS MR R A (BEE) &1

A RBREEE e s g m R R B ToEAE m R

-7.70

NO. 0 1.70 1.38 0.69 5.3

NO. 2 40. 00 1.43 1. 41 56.4

NO. 4 40. 00 1.38 1. 41 56.4

NO. 5 20.00 1.38 1.38 27.6

+4.0 4.00 1.29 1.34 5.4

INET 111.7 151.1 m2




HESTEE
) — BEGERGE EE BERRE R &
pi =g~ ; — — - e —
. XEEH 28 wemE m M BB FniEs m om0
-7.70
NO.O 7.70 0.90 0.45 3.5
NO. 2 40. 00 0.76 0.83 33.2
NO. 4 40. 00 0.71 0.74 29.6
NO.5 20.00 0. 66 0.69 13. 8
+4.0 4.00 0.69 0.68 2.7
e 1.7 82.8 m2




BEVHEREFTES

. . EEYEE L (Z4A) BEEYERE L (GED
A O RBERER Wwow uwm v om W @m TewE &
-7.70

NO. 0 7.70 0.1 0.20 1.5

NO. 2 40. 00 0.3 0.30 12.0

NO. 4 40. 00 0.3 0.30 12.0

NO. 5 20. 00 0.3 0.35 7.0

+4. 00 4.00 0.4 0.20 0.8

INEE 11.7 33.3 m3




BERE 13 s HE e
i B
p:| =1 T E & & b:| = T E fi&
NO.1 +16.5 ~  NO.5 +4.0 87.5 | 40kglLF
40kg/ LT 40kg/¥ukd
87.5m=-0. 50m/#& 175 ¥ Om=-0. 50m/#% 0 ¥
40kg/fLLT
Om=0. 50m/#% 0 ¥
40kg/# kB 0 ¥
A0kg/ LA T 175 ¥




BEVHEREFTES

. T REhREEE &0 SRR (B8 B
A RBREEE o s pwEE mom R B ToEAE m R
-8.50
NO. 0 8.50 1.59 0.80 6.8
NO. 1 20.00 0.75 1.17 23.4
+16.10 16.10 1.35 1.05 16.9
INET 44. 6 47.1 m2




MEHEE

AR (E) 4 R AR ($E) B s

A R EMEE o s ggE m o ® B B FHEA B MR
-8.50
NO.O 8.50 1.30 0.65 5.5
NO. 1 20.00 1.02 1.16 23.2
+16. 10 16. 10 0.60 0.81 13.0

41.7 m2

ait 44.6



BEVHEREFTES

) - e ANe ) BEMEL G
A REEER wom gewm o w o ® B E FEmE n &
-8.50
NO. 0 8.50 0.1 0. 05 0.4
NO. 1 20.00 0.3 0.20 4.0
+16.10 16.10 0.3 0.30 4.8
e 14,6 92 m




BEERZ= (BuiE L) T HE £
y {1 A {1
A =1 £ % Bl =1 £ i &
NO. 1 -16.5 1.2 HP-D400
it m £t E 21— L%ED400 1.2 'm
m3 SkERAEEY 1.2x0.048 0.1 m3
a5 BEGEED 0.1 m







HEIHBEHE

% # e > | a6 &
HESE
TRERET RC-40 t=15cm m2 50.4 18.2 68. 6
ErERET M-30 t=10cm m2 50.4 18.2 68. 6
=RETL FRHF7 Ay T=bem | m2 50.4 18.2 68. 6
SEHE
BREET RC-30 t=10cm m2 222.0 71.8 299.8
RETL FRHF7AOY t=3cm | m2 222.0 71.8 299.8
it B
TRERET RC-30 T=11cm m2
ERERET M-30 t=7cm m2
RET FRTFZ AL t=4cm  m2
HiE I % (RARR)
BRAET RC-30 t=10cm m2 14.3 13.7 28.0
=RETL FRHF7RAOY t=3cm | m2 14.3 13.7 28.0
aAvy')— kiR
BRAEET RC-40 t=10cm m2 5.6 5.6
RET ock=18N/mm2 t=10cm @ m2 5.6 5.6




MEFESE
HEMHE
B s mmmm o coelE@) o BETER) -
B B THEE L e & FHIEE @ &
NO. 0+6. 1 0.50 0.25 0.50 0.25
29. 30 0.50 0.50 14.7 0.50 0.50 14.7
1.30 0.90 1.30 0.90
3.30 1.30 1.30 4.3 1.30 1.30 4.3
0.50 0.90 0.50 0.90
NO. 2 1.80 0.50 0.50 0.9 0.50 0.50 0.9
12.50 0.50 0.50 6.3 0.50 0.50 6.3
0.50 0.50 0.50 0.50
NO. 4 24. 40 0.50 0.50 12.2 0.50 0.50 12.2
NO. 5 20.00 0.50 0.50 10.0 0.50 0.50 10.0
+4.0 4.00 0.5 0.50 2.0 0.5 0.50 2.0
INET 95.3 50.4 m2 50.4 m2




HESTEE
HIE A

) - ERRe=T) BET (B D
p:| J=1 ; — — e =
. XEEH 28 wema = oM BB FoEE = om0

NO.O 0.50 0.50 0.25 0.1 0.50 0.25 0.1
NO. 1+16. 10 36.10 0.50 0.50 18.1 0.50 0.50 18.1

&t 36. 6 18.2 m 18.2 m




MEFESE
B s mmmm o coelE@) o BETER) -
B B THEE L e & FHIEE @ &

-7.70

NO. O 7.70 1.69 0.85 6.5 1.69 0.85 6.5
NO. 2 40. 00 2.14 1.92 76.8 2.14 1.92 76. 8
NO. 4 40. 00 2.22 2.18 87.2 2.22 2.18 87.2
NO. 5 20.00 2.07 2.15 43.0 2.07 2.15 43.0
+4.00 4.00 2.16 2.12 8.5 2.16 2.12 8.5
INET 111.7 222.0 m2 222.0 m2




B o EmmR o oelE@) . EETEH) t
B B THEE m i B B THES m fE
-8.5
NO. 0 8.50 2.15 1.08 9.2 2.15 1.08 9.2
NO. 1 20.00 1.80 1.98 39.6 1.80 1.98 39.6
+16. 1 16.10 1.80 1.80 29.0 2.17 1.99 32.0
&t 44.6 77.8 |'m 80.8 m




45 44

42 84

43. 28

ik

= 0 —C_I)ET

10
| E—

___________ [ —— —

43. 37

———

Mﬁ\h
N
{
FE=14. 3m2 .L“éqg ‘
i ‘” NO, 2

\
AS

=
B

E K

1

1

I

!

1} :

| 4
1

I

147

£

m&

B4y
=

£ & %

Bl

14.3 m2

REET

t=10cm

14.3

14.3

1.00

100 143 m2

KETL

t=3cm




B T e ———— ——X Ce oSS SSS ===
hiee o IR L S T ——
E F 14 Fr
. = i""lz -
& W 8| 3t BHAY o g oy o8
Hn =2
PRAET t=10cm 5.6 100 56 m2
=BT t=10cm 5.6 100 56 m2




E F 147
& W 8| 3t WY oz 5 ou o=
=52
BT t=10cm 13.7 1.00 137 m2
®ET t=3cm 13.7 1.00 13.7 m2







RERIHAERR

%

%
il

] B B S

=

op

X E#RER T

BRAAIER (B) m 42.9

111.3

154.2




X El#R &R iE B g
E fa 2] fa
A R E KR A R E KM
NO.0-8.5 ~  NO.0-3.0 7.0 NO.0-9.0 ~  NO.0-3.3 7.3
NO.O+0.2 ~  NO.1+16.1 35.9 NO. 0 ~  NO.5+40 104.0
i 42.9 & 11.3
a5t 154.2 m




&

il

T



BA T HERR

® i ﬂ I T R

EELXT

K B m3 — —

B R m3 — —

EEEE m2 5.2 3.4 8.6
SHEEER IOV

15BEL m 12.0 6.9 18.9

2SBET m 3.5 3.5 7.0
RIRFEE A B 5 8 13




AL ZiE £ =
i {1 A {1
Al =1 T E & & b:l| = T E fi&
NO.0-7.7 ~ NO.0 -2.9 6.5 15 NO.0-85 ~ NO.0-3.3 6.9 1
NO.0 -2.9 ~ NO. 0 +0.6 3.5 25 NO.0-3.3 ~ NO.O 3.5 2
NO.0 +0.6 ~  NO.O +6.1 5.5 15
B 15 12.0 E 15 6.9
25 3.5 25 3.5
=118 15 18.9 m
25 7.0 Im




BIRFEZ it OB
xE 1 a 1
B =3 E & fig B:l| = E K i
NO. 0 +0.5 NO. 0 +0.5 1
NO. 0 +16.8 NO. 0 +16.8 1
NO.1 +1.4 NO. 1 +5.3 1
NO. 1 +6.4 NO. 1 +15.8 1
NO. 1 +12.4 NO. 2 +9.9 1
NO. 3 +13.4 1
NO. 3 +18.4 1
NO. 4 +19.4 1
E £l E 8 |[E&FT
At 13 |[@&F




151 T#HEitEE
180
8
™~ o
=3
8
&1 i l |
| ! 1:3
340
£ £ L=10.00m
. = ‘I_\'L _
& W 8| u 3t BHAY o g oy o8
B =
SEEHERTOVY cig 1.000 1000 100 m
BEJLZIL 1:3 0.24 X 0.02 0.0048 10.00 0.048 m3
EILZILIEIE 1:3 CADXR¥EIZKD 0.013 10.00 0.130 m3
HEMEEIE 0.34 10.00 34 m2




2ERRIHEHEE

180
ELAILFE
123
h Y / t\_‘
/
= 2
& [ S
50 210 50
310
£ £ L=10.00m
. = ‘I_\'L _
& W 8| H 2 BU2Y g g g
% =
SEHEERIOVY ciE 1.000 10000 100 m
BE)LA)L 1:3 0.21 x0.02 0.0042 10.00 0.042 m3
EILAILFEIE 1:3 CADKFEIZL B 0.034 10.00 0.340 m3

HEMEEIE 0.31 10.00 3.1 m2




ML/ R



MIT/IRBRIHERIR

5 i s 5 OME oy am s
fEELT
17 S m3 — —
# R m3 — —
EEELE m2 5.0 1.3 6.3
Y EPT TS
o ck=18N/mm m 49.9 13.3 63. 2
ESMBRT
EsmBR = 1.0
TREET
TEFHEHRE A 50.0




wZAVI)—F 3t HE =
i {1 A {1
Al =1 T E fi& b:l| = T E fi&
NO. 0 +1.3 NO. 0 +16.3 5.0 NO.0-3.3 ~ NO.0 +10.0 13.3
NO. 1 +16.1 NO. 2 +15.2 19.2
NO. 2 +16.9 NO. 3 +16.0 19.4
NO. 4 +17.7 NO.5 +4.0 6.3
B 49.9 H 13.3
=118 63.2




BRIV HEFEE

100
2
£
B
g
= -
1 =0
100
£ £ L=10.00m
. = ‘I_\'L —
£ W OB & s = BH2Y 7 g m =
B =
aVH1)—k ook=18N/mm2 0.18 X 0.1 0.018 10.00 0.180 m3
BB 0.18 % 1 0.180 1000 1.8 m2
HEMEEIE 0.10 10.00 1.0 m2

XETTIERI&EHE




